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Precalc Review for Test 4.1 — 4.4, Day 1 Name KEV

Answers should be exact (and done without a calculator) on all problems marked with an *. When rounding,
sides should be rounded to the nearest hundredth and ratios should have 4 decimal places.

*1. Determine the quadrant in which the terminal side of the angle llf:so

Q) §=2F b) 0= 395° 0,%2 9 #=-21 0
T

11x

*2. Find one posnne and one negative coterminal angle for a) 0=— b) #=-423°
¥ ADD OR SUBTRACT MULTIPLES OF 340°¢ o o7
Q) ,.g" -$7r ¥ WORK gn b) -423° +3¢o* = “43* -(3°+ 3¢6°=
nexr page 297°
3. Convert 2. 5 radians to degree measure. *4. Convert 330° to radian measure (in terms of )
2.5 radians. 180° 3307 A radiars — 327 = pIr

e B Y R
T adidns 180

5. Convert to DD (degree decimal form): —13°42'15" 6. Convert 12.4762° to DMS form.

-1370° ~12°28'3432 "

*7. The central angle 0 of a circle with radius 9 inches subtends an arc of 20 inches. Find 0.

= X8 Mustbein fadians
© 8= %9 = 2,22 Radians

8. A circle of radius » has a central angle of 15° which subtends(cuts) an arc of 23 inches. Find r.

¥eowert-1o 15°, MradianS . ¢4 )\ g=S .23 12 = nr

Radians’ 180° 12 a 2 T AT
=27 ;
*9. Find the point (x, y) on the unit circle that corresponds to the real number: r %__r_e " 827 nches
a) 1= 3—” £ K b) 1= 4_”
2 3 -
(0,-1) (-55) - 3
) 2
*10. Find the values of the 6 trigonometric functions/ratios (if defined) for -, ) i

Ol-r B i=- 5” b) 1=57 !%S
7 y_smo =7y 0SCe=-2 y Sine=s © €SCO= Undes.

-0 V; ’
- X = -."3 Seco= '2—3 ¥ cose= -1 Sece =<l b
., 7-’ dos® =

mané = %S Coto= .r; -3-mno © Coto= undef.,

11. Evaluate: a) sin(—4.1) b) sec(-1.42) c) cscl4® d) cot(1.14)
¥ radianmode ¥ Radian modL degiees Radans
.32 o 3 gl e d—— 2
. Cos (-h42) be Siniy° ¥l tan (1,14) 46
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6

T
*12. Evaluate cot—
b

:I_;S,J’E

13. Find the value of x in each of the triangles shown:

*a °=-’—< $f.n26°= —x-.
) . (o5 30 5

15
X= 15 005%0° < . 155in26° =X
=L | X=12,99 = X= 6,58

14. The angle of depression from the top of a building to the base of a statue 48 feet from the base of the
building is 72°. Determine the height of the building.

tan 72°= % e rurz' X
HE 1an 72° =X -

15. Given that 0 is acute and cos? =—, find

c) tand
- ¢) /# 1an?@ = sec?s
a) sec o=(.-;;9 =’.§ b) 3/n (Go°-0) = Cose

Ton 28 = Sec28 -/
= ..E 7ane = (-é)’../

72°

48’

a) sect/ b) sin(90°—0)

*16. Determine the quadrant in which 0 lies if tan& <0 and cos@ <0 .

Tan’e = 3¢ -)
- T o5
a Quadrant - Tano =5}

*17. Given smﬁz—g and tan# <0, find cosé . _ P 25
/S’l* (-1)*+ b’= 8% 5 coson g, 7ane= VI
Tl br=ay bsl2=20e( =Z s S s

18. Find the reference angle for a) 0=305° ° b) 927

©'=30-305°= 55° —&,‘9 - o'=T

*19. Find the exact value of cot(—150°) 3

9’2%0 -3 ..x = "__,J-j = 6_3-
| () 3 -1
*20. Find two values of 0 (0 <& <27 ) such that cosﬂz—g
¥ WoRK on Next 9. o= 3T ST
q
*21. Find two values of 6 (0° < ¢ <360°) where cotf) = \/?:
¥ Worw on Nyt P9 @= 36°,210°
4 RYs Seco= -E
*22. Giventhat sinf=-— and — <0 <2, find secd.
7 2 ’ = Z .J3}

sl 4 =Tt EE e

b?=33 -Y = 2\/—5

g b= J33 7 33
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¥ Add or subiact mulhples of 21
24) T 4211 = | gm = |/

7 " L+ ar

NI -2 = NP -8% = 370 ¥ NOT N&gairve, Subwuaet

E% g Y anoiher 27

({
747 (7

20 Findtvvovaluesofe(056?<2;r)suchthatc05¢9=—£ % z —=
2 A2

¥

T

A

9 ix

o
2

0= 35
T

*1. Find two values of 8 (0°<0<360°) where cotf=43 &
M pes,

®
@2
A
141
; -3 e

==

= 2 ©= 180°+30°
\ ®= 216°

©=30° V
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